
Bona Edge AMO230010.3 Edge sanding arm long



Bona Edge AMO230010.3 Edge sanding arm long

2.00 . ASO953623 Screw MF6S M10X45 threaded 

2.01 . ASO924900 Cogged belt for long arm 

2.02 . ASO232005 V-belt pulley big 

2.03 . ASO232101.3 Sanding arm 330 mm grey 

2.04 . ASO232130.3 Cover plate lower 330 mm grey 

2.05 . ASO958014 Torx Screw MELRT M5x12 fzb 

2.06 . ASO958012 Torx Screw MELRT M5X8 fzb 

2.07 . ASO222059 Velcro disc dia. 178 mm. 

2.08 . ASO222053 Conical washer 

2.09 . ASO963600 Nut brass M6M M10 

2.10 . ASO950312 Screw MCS M5x8 fzb 

2.11 . ASO222061 Skirting board protection 

2.12 . ASO232008 Steel disc Viking 

2.13 . ASO232207 Sanding centre 

2.14 . ASO232006.3 Wall protection Bona Edge 

2.15 . ASO958120 Screw MFT GF M3x8 

2.16 . ASO232102 Bearing housing with bearings 

2.17 . ASO953415 Screw MF6S M6X14H 



2.18 . ASO232148 Belt cover 320 mm 

2.19 . ASO950315 Screw MCS M5x14 fzb 

2.20 . ASO929080 Bumper 

2.21 . ASO950518 Screw MCS M8x20 fzb 

2.22 . ASO945129 Handle long sanding arm


